c30 lfzefz2 @

M pﬁés_‘lﬁ.‘i—‘:&._m._@ "CD;T. a?‘i:f f’d&)

LT %y Cyace e S
4 WD [Foha ] X o
yAéa%_ K Ax - —{}y@

ac
X =(A-BK)T
Stat @ LSLES e z
o Liput AND

M:APM*MJ{{,) Umbm\\a WOS\_"ﬁQﬂ




@

Wosr & % 2 ool weesunble (5758 )

vpel]
'or%rfvlhr A7y

We con measvre &
We con cppoxtid, oC t7) -~ ©4-47)

aT
W canlotluncairs:

L&Eﬁl Pmpe e~ S Pe%
- b9t ortiean) #4 e rguve
F i f""!"” eeﬁ P;‘;gg g"”‘(\_ ptoy )

\\

S,

B

Set = e

or x-nctL., TS : ’\

Systes: K= Ax ‘
-

hmet '
e e 42 B

(c:ma (,)'co\ 4/&4]) '\ es*uw:tr
S\Mo let-io4 e e R
¢ f We generare (L S0 @-\\/

l(now T, :(Mc Leor bo*k Sysh;!:_\'




0= l<‘- \/.\('P) 250 K/)}

\JV"—/ 7
I aowA Cstimeted
$"’i‘fc:_,

" Obwmous Proble sus ¥
U v D = T
) l‘l':o xéﬂ L'so ‘

Cuo M('r'wz( conds Ma%cfr)

2) N ™, g
US'(' $[M$)lc:t-c, A s-\/ stem <s
part oFf coat el

Eeasiae. s b el Qom.ixia.m__l.:ig&

Def ue. e = XD - K&
() 2xed) = Ave+ Buw
@ ERP = ARG + B uadd
Brssom 4z
Sy bi Froctjn g @\) £ T {&) < Aéig‘g‘;?
o -fe) - A Q«/%%O + Bud B

e i)




Re all e i S 0 \%Eeé; envals { &)) <0
T

50 N o} '\Df"ets
o 2N

5 err@/h,: *(0) ——’x\ca) Zz0

ed  redles@i O
ey, (P o e

-S-@s /7!(‘)’!0«‘ 5001(4!#06!"1‘9!" o Q::ay_g 'Fﬁf"
O YTy svadle sysrem!

= Lcs.“é 0&!:;9; Prﬁ(eﬂsﬁ
IJMOOQc‘M? EVf“nr's \uil{

Mi E meatehrel
D) Physicd Ly stem AsYurbasces

will not be 1n @ﬁ'lmqﬁaa[smd/dzﬂj
AN~ _N.g__ é\\s‘ruvl’anc@ FCJQC}'M

i il Ceed backe

wc mlwmys MHCasy M= \/(‘ﬂ -‘-‘—CXCﬁ
) ‘g ke outpur sydem

Then VE) (5 @ s calar ‘

but RXB, (D arFe vechsls,

How 2o We VSe & ¢ calal Mmsmwm‘rfgmg}

G, JS &




- f X
o al At y'C«X ?:CQ
_Eg_gll_-__émm
(WYH2)
Crel) = T — L(Y‘?'QG?)
=& 2”{*\‘L<Cx® CR)
= @_rr(ﬁ L.
= (B-Lc) &rrcﬁ(@'tﬁ-))
F\C,K L Ss ‘“103' C.FFC"‘] __;b:Egtd__
& E 3
ﬁ] = S 1 e
Bﬂ/ “lh-Le)

K= placc (BB Ncs)
KS- IQP(ASE)\»Q;LB) 2 lt{g & w‘ﬁ?




LGk e (c(r'(ﬁ"?)- CT).@)@)T?.
W he ¥ L&t&j MMiMa%t&ouP

e

-

A P e N ey o B L N ——

- = o A o
De - = p[o\cc,CAT)C‘) poles)

eig ( p-LO) = e-\j(@*l-d’v
= etq (A7)

~ e

WS X e viuval wqx

NI S

_Eshmcg;or g luea L & Ki

Eox ‘ﬁ‘ = (A = gk)? % kr YO\ i L(y..fly\)
5 R = (& TBK“L(.)%*K\'V”\. +Ly

)"MMM. 4




Anely ZI1Ag

0) Phyg )‘(: Ax+Bm: AX*gCKr\/A-K‘@
R B e o + (=9
ECrt)= MG Q‘( 1) | Q@ = X&)~y
-2 e = (A - L) err® o
3 ‘ R, R .
X= Ax + BReYa=B K (xa-ang
5 (}\ BR) X .+ (3\< eEC) +Br A
T~ i
X
AB& Be|[X | . | BRe]va
'“;' o O A"LC. | 0

-~
b(_ C,OVL/ [ S CQ(‘TP'; 'i' w‘?‘bq - ol




